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Find the unknown angle.

Find the value of x.

Answer the following.
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1) The angles          and 1 2 are

a) adjacent b) not adjacent

2) Which is the largest adjacent angle to 3?

3) is adjacent to which two angles?8

4) Which is the smallest adjacent angle to 4?
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Answer key

Find the unknown angle.

Find the value of x.

Answer the following.

1)

1110y  =
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y
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1) The angles          and 1 2 are

a) adjacent b) not adjacent

2) Which is the largest adjacent angle to 3?

3) is adjacent to which two angles?8

4) Which is the smallest adjacent angle to 4?
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